A 294F ) i = X 15
i RCET A4 - T s
p| 7 TR aRe  E W % A e T Tk e | s [
% A = * ® = # ®
| 481 <> BT Ecsi 40 | 1.1 —F o - -
FRJU Ly I 40 | 1.1 —o - =
FRJRE LT E=ei 40 | 1.1 — _ _ _
FRJNFHOET £ 40 | 1.1 e
FRJUARRT i R TR T R
FEJUTTHET Eeein 40 | 1.1 — _ _ _
)1 —HT H Esicy 40 | 1.1 N e
FRJI—HT B ZEHT IR 40 | 1.1 — o1 - -
FEN—HT B T Eeei 40 | 1.1 - - _ _
RN HT i R TR T R B
FRNTT R AT Eaeir 40 | 1.1 — 1 R —
FRIN AR ESe 30 | L1 2. 20 2. 40 2. 1l 2.1
FEJNKER EHT e 40 | 1.1 —F 11 J:tz’ér —
FEN R T =ty 40 | 1.1 -1 - - -
HINTFRREEN |28 40 | 1.1 - — — —
NIRRT |2 40 | 1.1 —fF o =
FENF P IR BHT Eee: 40 | 1.1 — — — -
FENTF Py Ece 40 | 1.1 T
FRIFFET I 40 | 1.1 - - - -
TR BT, BGHT, LA, FHNT. FIERAE, EZ 40 | L1 - - - -
&[]
LFLLIA o Hie 30 | 1.1l 2. 4 2. 4l 2. 150 2.1
NI E=~ L e 30 | 1.1 T s
FRJEELR EEM AR ERR 40 | L1|f 4.9 11 EeYE ELYE
RFRLLA o Hithik 30 | 1.1l 2. 40 2. 3l 2. 1l 2.1
FEN L s By Ece 40 | 1.1 o1~ =
FEII F-SFHT Es: 30 | 1.1 —pffi 2. 4 2. 1 2.1
FeI AR ET =4 40 | L1 - o - =
1| 5h 70 S Y E T 7 E R [ Fn BARG 40 | 1.1 I 1 — —




S RR294F 4y i = X o5
i RCET A4 - T TEERGE
p| 7 TR aRe  E W % A e T Tk e | s [
| 811 R 00 R AT RS OHIS, Nl I R P T I I
)b ET Aing 40 1.1 — — _ _
FEJUER (LIET Eoein 30 | 1.1 — _ _ _
81 ANA i P T Eein 30 | L1 —E 2. 4 2. 19 2.1
FRJI KR ET Ege 40 | 1.1 — o1 - -
FRNIERARINT el 30 | 1.1 - = B
FEN IR A AT | 40 | 1.1 N e
FRJI/S ST Aok 40 | 1.1 I I R
FRIN#FAHT Eeein 40 | 1.1 — _ _ _
FRNRHT B 40 | L1 49 11 i peHE
AR FET B 20 | 11 B I
FR 2 P mY 07 40 1.1 — 11| BevE R
N =HKTH IR 40 | 1.1 - = 4 =
FEJIZHT BBl Ak 40 | 1.1 — — — _
FEJI =FT A {=RT Eeei 40 | 1.1 — - — _
FE N L T i 40 | 1.1 S
8By EY ik 30 | L1 —fl 2. 40 2. 1 2.1
A SRHT Ece 40 | 1.1 —fF 11 J:tf’érmtt%%
FRNF ACHT Ecei 40 | 1.1 —fF u - -
FRNF <FHT gt 40 | L1 A 2.4l 2. 4 2. 1 2.1
FRNT [z feRm] g 10 | 1.1 —li 2. 40 2. 1 2.1
81 FEA7 e P T Etein 3 | 1.1 —E 2. 4 2. 1 2.1
FRJVHT FLER T ety 40 | 1.1 = 11 tti’,Jmtt“ﬁ%
FENHTH AET Eces 40 | 1.1 — _ _ _
F8)1BTPE SR AT S 40 | 1.1 — 11 —| e
FHNHTIRET ez 40 | 1.1 - = 4 =
FEN R AT gy 40 L1 . B _
81 FERRA BT 45 30 | 1.1 i 2.1

- f’fn@ 2.1




294 5y s ® K 3

[IEESI 5 R i) (R

p| 7 TR aRe  E W % A e T Tk e | s [

% A = * ® & # ®
& BG4 P T Eei 30 1.1 _ — _ _
FRJNRFEET Eceiid 30 | 1.1 - 2. -
FRJI K T BT EE 40 | 1.1 e AR S (= - e -
FE)1 R ET e, 0 | 1.1 _ T -
ENIE=3 ) Ecet 40 | 1.1 —F 11 kv R
FE) | SERT e 40 1.1 — 11| Ee# Ho#E
FRJNZ% RLET Eeei = 2. 1l 21
+81158)1 T Al o | L1l o 4 4
Galvipa) £ 10 | 1.1 — | bk —
I ZHTH ey 40 | 1.1 N e
FRJUZAT B BT e 40 | L1 e
FEJI ZFT B EhT Eoei 40 | 1.1 — _ _ _
FRNF B ET Eoei 40 | 1.1 —F 11 | EbHE
GENI BRI S) SARHT, T 40 | 1.1 = o - =
LRELLA D s 30 L1 [ 2. 40 2. 4%0 2. 1% 2.1
F8)IHAFIET g 30 | 11 - —Efﬁ 2.1 -
FE | I FRTHT Eee: 40 | 1.1 - - —| thHE
FRIN 7K &Y EEei 40 | 1.1 — o - -
81 ke = AT E=eid 40 | 1.1 o1l oww —
FE IR ET gt 40 | L[ 4.9 11 b LRI
MINERAY e 10 | 1.1 —l 11 e —
FJU AR BR AT Eeeid 0 | 1.1 — — _ _
RIS gy Ece 40 | 1.1 —l 11 mw -
#8109 8T B Sl R TR T I R
#8111 DU ET B ERT i T TR N N N R
NS HFHET e 40 1.1 — 11 v —
GLi g 30 | L1 [WE 2.6l 2. 50 2. Ol 2. 0|
FRE E=eig 30 | 1.1 2. 4% i 1.9

2. 4’%‘@. 1.9




A 294F ) i = X 1H
AR 4 - YT EHEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = # ®
| AR Ecei 30 | 1.1 [ 1T 2. 4% 1. §
EHiB Ezecn 40 | 1.1 [ 2. BE 3. 1 i 2. 4
T (=& 3 5 0 THrin 40 | L1 |F B2 LI 2. Tl 2.7
LIS o i 40 | 1.1 [0 2.9 3. 2% 2.5 2.5
J& Ege 40 | 1.1 [Rh 2. 36 3. 1 2. 4l 2. 4
Bel s 25 Esin 30 | 1.1 [WE 2. 00 2. 90 2. 9[: 2.9
il Ei:n 30 | L1 Wl 2. 40 2. 4 1. ol 1.9
HIETF I 30 | L1 W 2. 50 2. 5% 1.9 1.9
| BT EET 30 | 1.1 W 1. off
T Eet’ 30 | L1 2.1
PaR(a IR 30 | L1 2.1
M e 30 | L.1[# 2.6
4 IR 30 | L1 2.1
IR RETBRPERILO S HIHEE3 505 |50 | 1.1|1 4.4F
IR OHUE R OB 1 1 758 (IREE
3505 B
ERELAS O SR 40 | 1.1 [fd 2. 5l
TEFR MR 1758 (HEES3 5054 # |50 | L1[P 4.9F
LRCEAS: oD Hsg 30 | 1.1 4 2.9
FEE I 30 | 1.1 2.3
FrfiR gciy 30 | 1.1 2.3
KA A2 30 | L1 2.5
HHE gt 30 | 1.1 [ 2.4
EAA Ecei 30 | L1 21
I TR RiEk 30 | L1 2.1
R £ 30 | 1.1 [if 2.4
BB =i 30 | 1.1l 2.4
HH E BT E A — AR 40 | L1|F 5.2
LIS o HHE 40 | 1.1 2. 3




A 294F ) i = X 5
AR 4 - YT EHEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * 5 = # ®
2| Ecei 30 | 1.1 [ 2. Af 2. 351 .9
z| ITFR Ecti 30 | 1.1 2.3 3. 4Eﬁ 3. .2
| KAk gt 30 | 1.1 G 1.9 3. O 2. A
KE IR 30 | 11 [Al 2. 10 2. 480 2. .0
RER Epe 30 | 1.1 [AE 2. 50 2. 50 1. 9
KA Esin 30 | L1 [WE 2. 500 2. 50 1. 9fb 1.9
KAz Eeei 30 | L1 (W 1.epi 2.4 2. 1l 2. 1
%H Eoes 30 | L1 W 1ot 3. Ot 2. 4l 2. 4
o1l KA 30 | L1 2. 45
AR Bt 30 | L1J#t 2.5
INAKH g 30 | 1.1 [ 2.3
/INA G BT ESe 30 | L.1fW 2.3
INARAET Erer 30 1.1 2.5
INATEFAR =ty 30 | L1 2.5
INRES 15 30 | 110 2. 3%l 3. 40 3. 260 3.2
IINARHT EE 3 5 0 MR ROEE MG EEE —FH 10 | 1.1 A - - -
0 TR o HURI 0 Mk
_EREEAS 0 Hitk
1 ¥ED1~3TH 40 | 1.1 e s
2 LR oM 40 | 1.1 [0 2. 50 3. 40 3. 20 3.2
IR £ 30 | 1.1 [ 1. o 3. O 2. 4 2. 4
/TR IR 30 | 1.1l 2. 1 2. 4l 2. oEm 2.0
ny Hiz EiE 3 5 0 248 40 | L1|F 4 4F 11 — —
EFRLASN o MR 40 | 1.1 [0 2.5 3. 3h 3. T 3. 7
il JF =t 30 | 1.1l 2. 40 2. 4l 1.9 1.9
SRIRET ER T F I O R HU O FRE 23 8 2 MU — | B B HEE e J:EYJ tb¥E
bFELAS O s 40 | 1.1 [l 2. e 3. 28 3. T»ﬁ 3.9
#H R 40 | LoO|[H 5.2 —| HhIE LRYE
REFR e 30 | 1.1 [ffi 2. 40l 2. 40 1. 96 1.9




SEAR29F 4y i = X 6
AR 4 - YT EHEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
ub i 30 | 1.1 [ 2. 5[ 2. 50 1.9 1.9
S FHHR [EiE 3 5 0 54N 40 | L1|f 4.4E i - -
LIS o Hitd; 40 | 11 [0 2. 50 3. 3% 3.7l 3.7
&AL, EE 30 | 11J# 2 OE 2. 9E@ 2.9 2.9
EAE)IET gzttt 30 | 1.1 - 2. 1[: 2.1
N7 gt 30 | 1.1 W 1.6l 2. 400 2. U 2.1
EREAR MR 1758 (AEE35058) % |50 | 1.1 [P 4.9F (1H 3. 9% 3.9
EFRLIA o Hitkek 40 | 1.1 Wl 2. 6l 3. 2%l 3. 95l 3.9
EHiHE B T A R R AR VAR 40 | 1.1 - - - -
EELIA O Hi 30 | L1[FE 2.9 3. Lt 2. 0%t 2. 0
EREh MER1175% (FEHE35058%) # |50 | L1[H 4.9F 11E@ 3. 9Em 3.9
EFELIA 0 40 | L1 [0 2.6 3. 2% 3. 9 3.9
AR EiE 3 5 0 SH1 40 | Lifmsm o1 - -
RFRLLA o> Hitkek 40 | 1.1 Wl 2. gl 3. 2%d 2. 5l 2. 5
INTEHAS [Ei& 3 5 0 B 40 | L1|% 5.4 11
ERELAS O SR 40 | 1.0 [Afi 2. 9fi 3. 2f 2.5
ity BT 30 | L1 2. 40 2. 350 1. o
R H F T T E=R — | B — | e
{RI JFR AT Bt — | BRAR L L
=3 |y =S Eeei 30 | L1 R o2 4% 230 1.9
s = EoT 30 | 11 [AE 2. 450 2.3 1.9
Je3k Estcn 30 | 1.1 [ 2. 1 2, 4%
dbFn Ecei 30 | L1 2. 1 2. 44
e I 30 | L1WE 2 10 2.1
Bl Ry} £ 30 | 1.1 (W 2. 4 2. 3%
ElA= E=eh 30 | L1JsE 2. 1ph 2. 4%
JE B R gt 30 | L1 (W 2.1 2. 4%
btz o iy Esei 30 | 1.1 [ 2. 480 2. 3F




SEAR29F 4y i = X 7H
AR 4 - YT EHEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
<| AEniRTA i 30 | L1 2. 45 2.3 1.9 1.9
#H R T S oD R MU DFE B 23 8 S ik
1 iES 5 0 FHRie L ONERR ORI — | BEAR [ELLAEE LY bhTE LhYE
2 EELPS Ot 40 | 1.1 |AKHEREAE M ERHE
LRELIA D Hiuis
1 FEEHMOFEEE—ERR 40 | L1 4.9F 1156 3. .9
2 _LEELES 40 | 1.1 [ 2. 6l 3. 20 3. .9
SEEFIT AR 30 | L1 1.9 3. ol 2. 4
LAY ) IR 30 | L1 [WE 2. 40 2. 3%0 1. .9
| By g 30 | L1 2, 0 2, O 2, .9
NE| B 30 | 11[#E 2.1 2. 450 2. 0
Z3(i] Eceii 30 | 1.1 [W 2. 50 3. 4% 3. .2
A R 30 | 1.1 2. 30 3. 40 3. 26k 3.2
/INEEER ESeEn 30 | 1.1 [Af 2. 30 3. 4B 3. ot 3.2
S| BN =2t 30 | 1.1 W 1. OfH 3. Ol 2. 4 2. 4
N ESET 30 | 11| 2. 30 3. 4% 3. 2k 3.2
PR BT A O F R MU D HEE DY 8 D iU 40 | 1.1 —|Ee - -
_ERCEASN 0> itk 40 | 1.1 W 2. 6l 3. 2l 3. 2%l 3.2
FURTA+H ER T A O R U D FEE HS 8 D HU 40 | L1 T s
EELIS O Hi; 40 | 1.1 [0 2.6 3. 2% 3. 3 3. 3
FARENT ER T 0 AR U D FE T S > D U 10 | L1 o
LRRLAS oo i 40 1.1 —Jl 3. 20 3.3 —
PR R R ET I TR I O FR IS DR E DS B D Hil 40 | 1.1 e
_ERLLASS oD i 40 | 1.1 —fi 3.2 — -
IRARET ER T F I O R HU O FRE 23 8 2 MU 40 1.1 - - — —
bFELAS O s 40 | 1.1 —fli 3. 280 3.3 —
=5 =4 30 | 1.1 [#E 1.9 3. ol 2. 4l 2. 4
— =& 3 5 0 B4R 40 | L4 1) | —




A 294F ) i = X 8
AR 4 - YT EHEREE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
x| =l EFCEAS o Hirh 40 | 1.1 [ 2.5 3. 3 3. 7 3.7
L| #m Ezecn 30 | 1.1 fd 2. K 2. 3Eﬁ L 9E 1.9
¥ ik 30 | 1.1 [ 2. 500 2. 50 1.9l 1.9
TR EEH AN — R RRR 40 | L1 49F 11 tt;@[ﬁtt@
EERLIA o Hitkek 30 | 1.1 [# 2. 40 2. 450 2. Offli 2. 0
TIE ik 30 | 1.1 W 1.6 2. 450 2. 1[: 2.1
T gty 40 | 1.0 [Wf 2. 36 3. 1 2. 4 2. 4
TR Eoes 30 | L1 W 2. 50 2. 5% 1.9 1.9
TEAR THER1 1758 (FEE35 058 #H |50 L1 4.9 1460 3.9 3.9
EELIA O Hi 30 | 1 1[h 2. 64 3. 2[;@ 3. 9l 3.9
THiA = L T B AR VAR TG 40 | 1.1 - - - -
ERLEAS O i 30 | 1.1 2.7
TR EiE 3 5 0 58N 40 | L1|F 5.2
_ERELASN 0 Mtk 40 | 1.1 2.9
TERA Ece 30 | L1 2.5
BENE Ex: 40 | 1.1 [f 2.3
Hi#f E=et 30 | 1.1 [ 2.4
B g 30 | 1.1 [k 2.6
9 kEE g 30 | 1.1 [k 2.4
L gt 30 | L. 1.9
EE L EH T IE I R 40 | L.1|F 5.2
FRLASR o iR 40 | 1.1 [ 2.3
B Ecei 30 | L1pE 21
G £z 30 | 1.1 2.5
NG ket 30 | 1.1 2.5
BT e 30 | L1201
YA gt 30 | 1.1[# 2.5
I Eseen 30 | 1.1 [ 2.5




SEAR29F 4y i = X I
AR 4 - YT EHEREE
p| 7 TR aRe  E W % A e T Tk e | s [
i=| Y H A7 I SRR 40% 1.1 i 25 3. {iﬁ 2.{3*\ 25 i |
EFELIA D Mtk 30 | 1.1 [ 2.0 2. 95 2. 9[2 2.9
=X e 30 | L 1R 2. 300 2. 480 2. 1 2.1
Ecein 30 | 1.1 [ 2. 30 2. 45 2.
E=H Ege 30 | 11 [AE 2. 190 2. 45 2.
3ZFH K 30 | 1.1 W 2.4 2. 450 1.
byl i3 By 30 | L1 [Fh 2,500 2. 58t 1.
H B I 30 | L1 [WE 2.3 3. 4% 3. ol 3.2
Fly =i 30 | L1 2. 40 2 3 1ol 1.9
bl THE IS TR O FH i s D FiS KE 2% 8 2 s 50 | 1.1 J?Jtti’éfsﬂ:iér ttﬁr 2=
RERLAA 0D Hitg
1 fEEE 40 | 1.6 [#f 2.
2 LELU OISR 40 | L 1[# 2.
-o| A At =ty 30 | 1.1 2.
1‘% ES 30 | 1.1 fWE 2.
e g 30 | L1 W 2.
| SFH g 30 | 1.1 L.
&| T Eet 30 | 1.1 [ 1.
L I 30 | 1.1 2.
FH gciy 30 | 1.1 2.
s gt 30 | 1.1 L
A1) Ecei 30 | 1.1 2.
EH EE 3 5 0 Z#n 40 | L.1|# 5.
LERLIA o Hig: 30 | L 1[#E 2
2 A (=& 3 5 0 Z#A 40 | 1.1 5.
_EEELIAN 0> itk 30 | 1.1l 2.
=T =& 3 5 0 ZHtin 40 | 11| 5.
REELIS O I 40 | 1.1 [0 2.




A 294F ) i = X 105
AR 4 - YT EHEREE
S (TR wass @M m oW g [P ACEERTEECEA RS
72| FE R T EHE 0 AR 48 B 5% b 5 HUK aﬁ Lf%%gﬁwé wg %% ’ ’
EFELIA D Mtk
1 REHIFRTER (AEE350% |50 | L1|d 44F 11 | —
)
2 EELPS Ot 40 | 1.1 WG 2. ol 3. 3 3. 6l 3. 6
BA MERL 1758 (HEE35058) #h |50 | L1{F 497 11/ —| -
RFERLIA D HitE 40 | 1.1 2.6 3.2 — —
H R EE O IR R O T8 E 25 & 2 HUm — | BB J%Hﬂ%Ett@ [Eki s ek
L RCLASR D HEg 40 | 1.1 [ 2. 6% 3. 200 3. 9l 3.9
ALHE EE M E R B AR AR TR 40 | 1.1 5. gf Uﬂ2ﬂE2ﬂ
LIS o 30 | 1L 2. Ol 2. 9k 2, 9l 2. 9
\Z| R Ecei 40 | 1.1 e T
HREHF A Ecern 30 | 1.1 2.7
HREHA RiEk 30 | 1.1 2.9
FrRR AR £ 30 | 1.1 [# 2.7
HREREF =2t 30 | 1.1k 2.9
e Esic 30 | L1 2.7
e Eeei 30 | 1.1 W 2. 7
HREIEM 5 IR 30 | 1.1 W 2.7
FFERITE ST 30 | 1.1 W 2. off
FTRIH IR IR 30 | 1.1 [ 2.7
HEER A g 30 | L1l 2.7
FEEST T ESe 30 | L.1f# 2.9
IR Eeid 30 | 1.1 2.7
- =t 30 | L1l 2.6
=)l Eeei 30 L1} 2.5
A I 30 | L1 2.1
o R =4 30 | L1 2.4
o B £ 30 | 1.1 [4f 2 4




A 294F ) i = X 11E
AR 4 - YT EHEREE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
i B i 30 | 1.1 1.9 3. Ol 2. 4 2. 4
PAikg TE M AR EEBERIERIAO 5 AR 40 | 11 |F 4 j: u - -
AZZE .00 AN O it
RFRRLIA D Hitke
1 THEMEE AN SRR R OERE FEE 40 | LT 447 1] —| =
HFE W R F RO EHER TS
i
2 _ERELIAF DR 30 | 1.1 1.9
A 15 30 | 1.1} 2.4
AN Eet 30 | 1.1 [ 1.9
I Ecis 40 | L1|%h 52 - —| LY
P AR et 30 | L1 Lol 2 4 2.2 —
PERA g 30 | 1.1 [ 1O 2. 45 2. 2 2. 2
PIBER I Ecern 30 | 1.1 1.9 L2l 2.2
RED-FN R 30 | L1 1.9 L2 2.2
WL I g3t 30 | 1.1 1.9 -
PR Eae 30 | L.1fA 1.9 L2 2.2
PEANA IR 30 | L1 fa 1.9 L2 2.2
PR = Eeei 30 | 1.1 W 1. of -
PR IR 30 | 1.1 W 1. o L 2ffl 2.2
PIEATS g’ 30 | L1 1. of . off 2.2
PEAS I IR 30 | 1.1[# 1.9 L2t 2.2
P& ey 30 | 1.1l 2.4 Ol 1.9
AR TEMESE RN R T ER S EWE 40 | LR sF o1 - —
FEF ARG
EFREAS 0 g 40 | L1 [ 2. 30 3. 1L 2. 4 2. 4
N A5 E=eEn 30 | 1.1 [l 2. 4 2. zT@ 1.9[: 1.9
KB BT EHE O F R g O FE E 03 B 2 HuEk — | B R | —
ERCEAS 0> ik 50 | 1.1 [#E 2.6/ 3.2 — —
FRGHTE K Eset: 30 | 1.1 [ 2. 45 2. 4?@ 1. 9t 1.9




ERR29HESY i 2R * 128
AR 4 - YT EHEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% A = * ® = # ®
O LS Ecsiid 30 | 1.1 [ 2. 4fE 2. 46 1. 90 1.9
JEEE Eceiid 30 | 1.1 [ 2. 1E 2. 45 2. O 2.0
FEAK Esen 30 | 1.1 2. 50 3. 3l 2. 1l 2.1
T £ 30 | 1.1 [ 2. 40 2. 3R 1. 9t 1.9
EERESE] gzttt 30 | 1.1 [ 2030 3. 450 3. 2[: 3.2
W Esin 30 | L1 W0 1. Ofl 3. Ol 2. 4l 2. 4
g} By 30 | L1 [#E 2. 30 2. 4t 2. ot 2. 0
V¥ IR 30 | 1.1 W 1Ot 3. ol 2. 4 2. 4
*| Bl g 30 | 1.1 W 1.6 L1l 2.1
BA Eet’ 30 | 1.1 [ff 2.4 Lot 1.9
BRI IR 30 | 1.1 2.4 . E@ 1.9
7 IR s 30 | 1.1 1.9 LAl 2. 4
By Eoei 30 | L1 2.5 Ot 1.9
HEFRI =ty 30 | 1.1 2.0 . Eﬁ 2.9
EIFHTHT EE 3 5 0 5#in, WER{ASHEIRB LG 40 | L1 |[F 6.8F 11 —| —
E B 18 LB AR OAR TS
EEELIA o il 40 | 100 2. 00 2. 1l 2. 9l 2.9
Ful gz 30 | 1.1 1 Ofh 3. O 2. 4 2. 4
A =1 IR 30 | 1.1 W 1.7 2. 4l 1. 6l 1. 6
RN By 30 | 110 2. 4
KR Eaair 30 | L1 2.5
P A g 30 | L1 2.1
EZE-RES Ece 30 | L1416
=l Eeei 30 | L1 1.9
e iy =t 30 | 1.1l 2.4
S E: 30 | L1 1.7
D HERHE] I 30 | 1.1 1.9
| W =4 30 | 1.1 2.4
u BN £ 30 | 1.1 0fd 2.1




A 294F ) i = X 138
AR 4 - YT EHEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
= B Ecei 30 | 1.1 (W 1.6 2. 40 2. 1 2. 1]
I\ [EHE 3 5 0 5N 40 | L1 4.9 11 4. 1 4.1
LIS o Hitd; 40 | L1 [0 2. 60 3. 20 4. 1 4. 1
NIRRT [EhE 3 5 0 S#in 40 | 1.1 —F 115 4. O
EERLIA o Hitkek 40 | 1.1 —Bi 3. 2 4. Of
N [HiE 3 5 0 FHtin 40 | 11| 4.9 L1 4. O
LIS O Hi 40 | 110 2.6/l 3. %0 4.0
i I 30 | 1.1 [W 2. et 2. 58 2.0
KFn [Ei#E 3 5 0 Z#iia 40 | L1|#F 44F 1] | —
EELIA O Hi 30 | 1.1t 2. 5% 3. 3t 3. 5% 3.5
X & Eif 3 5 0 F#kia 40 | L1 4.4+ 11 | -
EFELIA 0 40 | 1.1 [0 2.5 3. 3% 3.5 3.5
FHHAHE Ei#& 3 5 0 4% 40 | L1|F 4.4F 11 - -
_ERLEASR D i 40 | 1.1 [Wf 2.5 3. 3%l 3. ol 3.5
& lid] EE 3 5 0 S#Min R O EEMGEMEEYHN 40 | L1 |F 5.6 11EIE 2.9 2.9
(ER" S
EEELIA o il 30 | L 1R 2. 0%l 2. 9t 2. 9l 2. 9
Pa A BT & 3 5 0 Z#in 40 | L1 seh 1 | —
_ERCEASN 0> itk 30 | 1.1 W 2.0 2. 9%l 2. 9kl 2. 9
KR ST 30 | 1.1 |H 2. 3E 2. 4t 2. Ol 2. 0
D| MR ESen 40 | 1.1 o
W R TR ESeE 40 | 1.1 o
R A st 30 | 1.1 2. off 2. 350 1. 9l 1.9
WEAE 1 ~3 TR |2k 40 | 1.0 = | HHH EHH
i R =t 10 | 1.1 - - - -
| fik =ty 30 | 1.1 2.5 2. 3% 1.9 1.9
By £t 30 | 1.1 [l 2.5 2. 3 1.9 1.9




